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Blood Relation Questions for Bank Exams (Canara Bank PO,
IBPS Clerk Pre, LIC Asst., IBPS PO Pre, IBPS RRB, IBPS Clerk, SBI
Clerk Pre, SBI PO Pre, SBI Clerk & Syndicate Bank PO)

Blood Relations Quiz 13

Directions (Set of 3 Questions): Kindly study the following information carefully
and answer the question that follows:

‘B + A" means 'Ais son of B'

'Bx A' means 'A is father of B'

'A % B' means 'A is son-in-law of B'

‘B - A' means 'Ais wife of B'

'A * B' means 'B is brother of A’

'A # B' means 'B is the only sister of A’

1. Which two symbols will come in place of question marks in the following
equation to show that E is wife of X?
X%P-C?D?E

A.xand+ B.+and— C.+and# D.EitherAorC E.None of these
2. Which symbol will come in place of question mark in the following

equation to show that V is daughter-in-law of L?

V+ZxT?L

A.+ B.% C# D.x E.Noneofthese

3. Which symbol will come in place of question marks in the following
equation to show that L is paternal aunt of P?

PxQxR+S?L

A.## B.x C.— D.EitherAorC E.None of these



Directions (Set of 2 Questions): Kindly study the following information carefully
and answer the question that follows:

There are two couples in a family. K has two children. M is wife of O, who is brother of
B. Fis daughter of K. U is sister of S, who is son of O. T is son of B, who is a male.

4, How is M is related to K?

A.Sister B.Sisterinlaw C. Brother D. Cannot be determined
E. None of these

5. How is Uis relatedto T?

A. Mother B.Brother C.Sister D.Cousin E. None of these

Directions (Set of 3 Questions): Kindly study the following information carefully
and answer the question that follows:

There are eight family members.Anupam, Bhuika, Mohini, Hitesh, Vishnu, Ruchika,
Sanshlesh and Pritam. Vishnu is uncle of Sanshlesh, who is daughter of Pritam. There are
two married couples in the family and two grandchildren in the family. Mohini has one
daughter and one son. Anupam is granddaughter of Ruchika and sister of Bhumika.
Ruchika is sister in law of Vishnu. Mohini is not a male. Sanshlesh has only one brother.

6. How Pritam is related to Hitesh?

A. Mother B. Father C.Brother D.Can’t be determined E. None of these

7. How Bhumika is related to Sanshlesh?

A.Son B.Daughter C.Niece D.Nephew E.None of these

8. Who among the following is mother of Anupam?
A.Sanshlesh  B. Hitesh C. Mohini D.Ruchika E. None of these
Directions: Read the following information carefully and answer the questions

given beside:

l. K'is brother of F. U is wife of nephew of L who is wife of K.
Il. P is brother of M. W is son of M. U is mother of W.



[Il. Cis wife of F. F is father of M. F has two children.

9. HowisLisrelated to M?

A.Aunt B. Mother C.Father D.Uncle E.None of these

10. There are six members —P, Q, R, S, T and U are in a family. P and Q are a
married couple. P is one of the male members. S is the only son of R who is
brother of P. T is the sister of S. Q is the daughter-in-law of U, whose husband
has passed away. How many female members are there in the family?

A. Can't be determined B.Onlyone C.Two D.Three E. None of these



Correct Answers:

Explanations:

This question can be solved using the elimination technique.

Out of the given options, only option C fits the blanks appropriately as we can observe
from the Blood Relation tree given below.

[P C]
/ /E ,
(X~ (E] D)
Option Cis hence the correct answer.

This question can be solved using the elimination technique.

Out of the given options, only option D fits the blanks appropriately as we can
observe from the Blood Relation tree given below.
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Option D is hence the correct answer.



3. This question can be solved using the elimination technique.

Out of the given options, we can define the given relationship using either option A or
option C. And we can observe this from the following diagrams.

Option D is hence the correct answer.

4, Following the final family tree we can say that M is sister in law of K.

(K (B] 10} M]

(T F} {u 51}
Hence, the correct answer is option B.

5. Following the final seating arrangement we can say that T is cousin of S.

[K (B] [0} M]

(T F} {u 5%

Hence, the correct answer is option D.



Observing the final chart, we can say that Pritam is father of Hitesh.

- -

[ Ruchika | Pritam ] Vishnu }

l
o

. + ~
[ Mohini {Hitesh | Sanshlesh)

e

{ Bhumika Anupan’;}

Hence, the correct answer is option B.

Observing the final chart, we can say that Bhumika is nephew of Sanshlesh.

- : -
[ Ruchika ~ { Pritam ] Vishnu }

l
I

[ Mohini {Hite5h+] Sanshlegﬂ}.

—

{ Bhumika" Anupan’;}

Hence, the correct answer is option D.

Observing the final chart, we can say that Mohini is mother of Anupam.



= - -
[ Ruchika  { Pritam ] Vishnu}

l
I

. + -
[ Mohini {Hitesh | Sanshlesh}

e

{ Bhumika Anupar‘r;}

Hence, the correct answer is option C.

0. Following the final blood relation image, we can say that L is aunt of M.

- + + -
[L (K]1[Fy C]
(P [M} U]

!

W

Hence, the correct answer is option A.

10. Following the family tree, we can see that there are three female members (U, Q and T)

i n the family.
n
(R [P} Q]
R
{5 T}

Option D is hence the correct answer.
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